(AIE 1)

FRB0EEEE  FEFEE (RAELIR)

() THEVE B & — 5 Lt = i B e

%% 8L B FEhti H TEEV B | RIBDRBAERT | 5 DB

e XTI %1 g (M) | PR (M)
1 IIESSEISUNIN’ 5 kM 5 169, 000 126, 000
2 T VAR 8H W)H) 3 40, 000 30, 000
3 PERXREDSY 11H kA 5 90, 700 67, 000
4 ISR e 9H H4) 3 92, 000 69, 000
5 FELZ YV z—va v R 10H 5 143, 700 113, 000
6 BEF—H LT = AH 11H 5 39, 000 21, 000
7 WESZ J A~ AL 124 2 93, 000 69, 750
8 fo & K& 12 3 73, 000 73, 000
9 FEREEK ] 124 1 55, 000 41, 250
10 SH VA AR 3 198, 000 143, 000
11 W E WD E TR Blifkes 3 55, 000 41, 250
12 L sl SE A T i ik 4 25, 000 18, 750
13 IWEZ EHES AR 2 65, 000 48, 000
14 [ 2 it Gk 3 80, 000 60, 000
15 INESEES GikE 1 35, 000 26, 000
16 L1 = D 2 0[] W 2 35, 000 26, 250
17 S HUR I E/ NI GG 3 207, 000 155, 000
18 BFEAR—Y I 5T AR 2 30, 000 0
19 DAL AT HERF SGIKES 1 501, 750 376, 750
20 NEEYN NS 0-¢ ¢ GiKE 3 130, 000 97, 500

IEEVE M & AT 2,157, 150 1, 602, 500
X1 (DB - Bk @) 1 &b - 5o Q) AL - /R (4D Bbikit  (5) XIC - Ad—>
(1) = (3) - (5) DHBITXENFREES HIHE/E

(2) {5 Bh Fe Al B == 74.29 %

(3) 38 Ee A7l ) 4 460, 000

(4) i Bh & HR%E 2, 062, 500




